






When a straight line standing on a straight line makes the adjacent angles equal to one another, each of the equal angles is right, and the straight line standing on the other is called a perpendicular to that on which it stands.

A point is that which has no part.
A line is breadthless length.





To draw a straight line from any point to any point.
To produce a finite straight line continuously in a straight line.
To describe a circle with any center and radius.

To construct an equilateral triangle on a given finite straight line.



If two triangles have two sides equal to two sides respectively, and have the angles contained by the equal straight lines equal, then they also have the base equal to the base, the triangle equals the triangle, and the remaining angles equal the remaining angles respectively, namely those opposite the equal sides.
Given ∆ABC and ∆DEF. If AB = DE, AC = DF and BAC = EDF, then AC = EF, ABC = DEF and ACB = DFE (known as “SAS”).



If ∆ABC is superposed on ∆DEF, and if the point A is placed on the point D and the straight line AB on DE, then the point B also coincides with E, because AB equals DE.
Again, AB coinciding with DE, the straight line AC also coincides with DF, because BAC equals EDF. Hence the point C also coincides with the point F, because AC again equals DF.
But B also coincides with E, hence the base BC coincides with the base EF and equals it. (C.N.4)
Thus the whole ∆ABC coincides with the whole ∆DEF and equals it. (C.N.4)
And the remaining angles also coincide with the remaining angles and equal them, ABC equals DEF, and ACB equals DFE.

That all right angles equal one another.



Given two straight lines constructed from the ends of a straight line and meeting in a point, there cannot be constructed from the ends of the same straight line, and on the same side of it, two other straight lines meeting in another point and equal to the former two respectively, namely each equal to that from the same end.Given a line segment AB. If C and D are points on the same side of AB such that AC = AD and BC = BD, then C and D must be the same point.

That, if a straight line falling on two straight lines makes the interior angles on the same side less than two right angles, the two straight lines, if produced indefinitely, meet on that side on which are the angles less than the two right angles.



Parallelograms which are on the same base and in the same parallels equal one 


